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s |panne| JECL | oeuwe | ZRL | JATE =% Atggon
1| zege N (#xxes 10,000,000
2 | @eigel N M e 2,200,000
3 | @eigel N S wax 100,000
4 Jhe! N § wo 1,400,000
5 | gewe N § *r 60,000
6 Jhe! N 2 100,000
7 JHel N I xxex 15,000
8 Jhe! N =T — 129,000
9 JHel N 1) Hkkkk 28,500
10 JHel N T kKK 40,000
11 JHel N 2 xxxx 200,000
12 JHel N 2 xx 80,000
13 Jhel N 2 40,000
14 | gewe N S 445,000
5 Jhe! N - 15,000
16 | gawe N S —— 455,000
17 Jhel N DF wxs 150,000
8 JHel N OF xx 187,000
19 | gawe N T 207,000
20 JHe! N ST 800,000
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21 JHol 9t 365,000
22 IHol Bt 40,000
23 2l A sokrsx 80,000
24 oMol T 100,000
25 oMol A woxwsx 3,450,000
26 |HIZ2lgel Al =Rl K wxnns 1,630,400
27 |BlZalge ZCu K wxnxs 700,000
28 JHol A wxxinns 879,000
29 | oiarg K wxxsnnsns 550,000
30 2tk R wxr 1,220,000
31 IHel & xx 165,000
32 IHel & *x 136,500
33 IHel A wrx 45,000
34 2ol OF *xxsknsns 6,168,000
35 2tk OF %% 160,000
36 | ol2re OF xakkx 40,000
37 el OF xxkkx 414,000
38 |HiZay meol OF wxkkxs 2,640,000
39 oMol Of #* 70,000
40 IHol 2 wxx 1,460,000
41 el 0f ** 108,000
42 el 0f ** 715,000
43 oMol 0f ** 15,000
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44 Jhel Of »* 200,000
45 Jhel Of ** 150,000
46 Jhel Of ** 250,000
47 Jhel Of ** 240,000
48 Jhel Of ** 115,000
49 Jhel Of ** 50,000
50 Jhel ol * 145,000
51 Jhel & xx 40,000
52 Jhel & xx 1,950,000
53 QI2HCER & xx 2,015,000
54 Jhel & 258,000
55 OI2HCER Kl xxx 100,000
56 Jhel e 450,000
57 Jhel N 300,000
58 clgol = 200,000
59 Jhel Z| ** 102,000
60 JHI B ok 430,000
61 2Het B owxxx 930,500
62 |Hlgely 3=xgel B owxxxk 80,000
63 Jhel B oaxxrndon 200,000
64 HIGel e =IE==PN =gl W dkkkkkkk 1,000,000
65 JHol T kokkkkkkk 30,000
66 Helgol B Hkkkx kA A% 5,500,000
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L | oeuwe | Bigh | dhos s NEEL
67 | hel N B wwwwnnnnnn 1,988,200
68 | JHel N B wxnnnnnnnns 1,155,000
g0 | @z st exr 400,000
70 |vigalgel [As= Tl N | B weennns 110,000

21 Bl Hxx 60,000

70 Bl ko kok ko ke 380,000

73 SH dekk 60,000

74 B wrnns 600,000
75 4,557,000
110,000

g 61,958,100
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